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series { start = 2009.1
span = (2009.1,2016.12)
decimals = 1}
transform { function = log }
arima{model=(012)(011)}
regression { variables = (td1nolpyear Ipyear) — 7EE-7EERIEEDIE AL regression D{ 1 NEHIEE
save = (td hol)
user = (jap—hol)
usertype = holiday
start = 2009.1
file = XXXXXXHKXKXKXKXKXKXXX
forecast { maxlead = 12 }
estimate { save = (mdl )
maxiter = 500 }
x11 { print = (hone + d10 + d11 + d16)
save = (d10 d11 d16)

seasonalma=x11default }
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TC: temporary change
LS: level shift

AO: additive outlier

CHIZKYTFRE 28 FEERUHIE TIEIELT=Q) DARYITFALILIZLUTDESY,
<ShTEAERBEOSE>

regression { variables = (td1nolpyear Ipyear tc2009.2 tc2011.3)

(5) MEEZEHDIFTNZDUT
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BEIZBITH5EN TN AOHE BE(A) Hh o TF4{E(B) FZELE L V={EZF X-12-ARIMA [ZT5 X TL 5,

TRk 28 FERFMETERALEZARIL, LTDESY,

18 2H 3H 4H 5H 6H 7H 8H 9H 10A | 11A | 128
20094 0.125 0.125] 0.125[ 0.000 0.375 0.000/ 0.000f -0.125 0.875] 0.000f 0.250 0.000
20104 0.125 0.125] 0.125] 0.000 0.375 0.000| 0.000] -0.125] -0.125] 0.000] 0.250 0.000
20114 —-0.875 0.125] 0.125[ 0.000 0.375 0.000/ 0.000f -0.125] -0.125] 0.000] 0.250 0.000
2012% 0.125| -0.875] 0.125] 0.000] -0.625 0.000] 0.000] -0.125] -1.125] 0.000] -0.750 0.000
20134 0.125 0.125| 0.125[ 0.000f -0.625 0.000/ 0.000f -0.125] -0.125] 0.000| -0.750 0.000
20144 0.125 0.125| 0.125[ 0.000f -0.625 0.000/ 0.000f -0.125f -0.125] 0.000| 0.250 0.000
20154 0.125 0.125] -0.875[ 0.000 0.375 0.000/ 0.000f -0.125 0.875] 0.000f 0.250 0.000
20164 0.125 0.125] 0.125[ 0.000 0.375 0.000/ 0.000f 0.875] -0.125] 0.000| 0.250 0.000
20174 (B EHAR) 0.125| -0.875| 0.125] -1.000 0.375 0.000| 0.000| 0.875] —-1.125] 0.000f 0.250{ -1.000
20184 (EEHAR) 0.125 0.125| 0.125( 0.000f -0.625 0.000/ 0.000{ -0.125f -0.125] 0.000| -0.750 0.000




